
Partition the number:   362 = 3 hundreds and 6 tens and 2 ones    
                                    

Three hundred and twenty seven.

Five hundred and thirty.

Seven hundred and six.

Write the numbers in digits:            
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Place Value

Write the numbers in words:            
                                    

297

350

603

615

590

904

Write the value of the underlined number:   362 = 6 tens = 60    
                                    

841

150

604

Can you make the BIGGEST and SMALLEST numbers possible from these 3
digits?                      How do you know you are definitely correct?    
                                    

7 8 2    
                                    

BIGGEST NUMBER :

SMALLEST NUMBER :



Partition the number:   362 = 3 hundreds and 6 tens and 2 ones    
                                    

Three hundred and twenty seven.

Five hundred and thirty.

Seven hundred and six.

Write the numbers in digits:            
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Answer sheet

Write the numbers in words:            
                                    

297

350

603

615

590

904

Write the value of the underlined number:   362 = 6 tens = 60    
                                    

841

150

604

Can you make the BIGGEST and SMALLEST numbers possible from these 3
digits?                      How do you know you are definitely correct?    
                                    

BIGGEST NUMBER :  872

SMALLEST NUMBER :  278

7 8 2    
                                    

327

530

706

Two hundred and ninety seven 

Three hundred and fifty

Six hundred and three

6 hundreds and 1 ten and 5 ones

5 hundreds and 9 tens and 0 ones

9 hundreds and 0 tens and 4 ones

= 1 one = 1

= 5 tens = 50  

= 6 hundreds = 600

You order the biggest to smallest digits in to the

places with the largest to smallest value to get the

biggest number and then the opposite for the

smallest number. Smallest digit is largest value!


